F | Q S h bQ C k L’ Year4 Week5 Dayl

) Draw a shape with an area of Y squares.

2) What is the area of the rectangle in squares?

3)  Find the product of 6 and 8

Y)  Subtract 000 from 7,892




Flashchk U Week 5 Day 2

) What fraction of the shape is shaded?

g

2)  Which shape has the smdller area?

A [e]

3) Calculate 2 X S X 10

HY)  What is 37 more than 8497




F | as h bQ c k L’ Year4 Week5 Day3

Complete the equivalent fractions.

3.6
q°8

Calculate the area of the shape.

9 squares

Multiply Hby I7 68

H)  Write 49 in Roman Numerals. XLIX




Year 4

Complete the equivalent fractions.

2 |

y 2

What is the area of the rectangle?

Give your answer in squares.

I8 squares

Calculate 35 X 9 315

Round 347 to the nearest I0 350

Week 5 Day4




F | S h baic k y Year4 Week5 Day5

) Complete the sentence.

There are  /
thirds altogether.

Various

2)  Draw a shape with an area of 8 squares.
answers

3)  Multiply 24 byq 196

500 or 5

4)  What is the value of the digit 5 in 7,567? hundreds




Flashback U Week 6 Day 1

) How many wholes?

2 wholes

2)  What fraction of the shape is shaded?

RN [ ] s
9

3)  Draw a shape with an area less than 7 squares.

Various answers

H4)  Whatis 3431 + 2,293? 5,74




F ‘ as h bO C k L‘ Year4 Week 6 Day2

) Write the next two fractions in the sequence.

357 a |
0 '10°10°10° 10’ 10
2) What fraction is shaded?

3)  Which shape has the larger area?

o [

Y)  Subtract 386 from 1,202 816




F‘QSthCk U Week 6 Day 3

Complete the sequence.

3 11|
2,15.15.15 ,

What is the missing numerator?

2 8

3 12
What is the area of a rectangle with

3 rows of 2 squares? 6 squares

4) 1,000 more than 2,48 is 3,48l




Flashbale k ?

)

2)

3)

4)

2
Find the sum of 5 and % g

What is the missing denominator?

3 12

5 20

What is the area of the shape?

w |0 squares

Add 392 and 1,509 together. 1,90l

Week 6 Day4




F | as h bQ C k L’ Year4 Week 6 Day5

12

S 7
sS40
) Whahsq+q. 3

2)  How many wholes are there?

3)  Find the difference in the area of the shapes.

g

HY)  Round 472 to the nearest hundred. 9500




F | Q S hbac k L‘ Year4 Week?7 Dayl
234 9

) Calculate =+ =+=

O 9 9 o

2)  Complete the sentences.

fifths altogether.
whole + Y fifths

3)  Draw a rectangle with an even area. Any rectangle with

an even area.

HY)  What is 7 kilometres in metres? 7,000 metres




F ‘ Q S h bQ C k L’ Year4 Week 7 Day2

3 | 2
H — L] — 9 —
D) What is 5 "5 E

2)  Write the next two fractions in the sequence. |

I 4710 B 6

S 'S'5'5" 5 ' 5

Any square with

3) Draw a square with an even area. an even area.

|
H)  What is 4,500 metres in kilometres? 4 5 kilometres




F ‘ as h bQ C k L’ Year4 Week7 Day3

2 6

) Find the difference between 7 and 5

2)  Complete the sequence.
7 H 2 28 35

100’ 100’ 100 LI00 | [ 100

3)  Find the area of each colour in the shape in squares.

Orange = O squares
Blue = 7 squares

4Y)  Write 83 in Roman Numerals. LXXX




F 1a's h baic k y Year4 Week7 Day4

) 3 13 O

Calculate 2 — % — or |=

8 8 8

2 6

2) Add 5 and S together.

3) What is the difference between the area of red and blue?

Y)  Round 4,285 to the nearest hundred. 4,300




F ‘ as h bQ C k L’ Year4 Week7 Day5

D) Subtract > from 3 o or 2 e

7 7 7

T
2) What is g more than 3 ? 3

3)  Draw a shape with an area less than I0 squares.
Various answers

4) Use <, > or = to compare.
Y kilometres (<) 3,000 m + 2,000 m




F | Q S h bQ C k L’ Year4 Week8 Dayl

) Find % of 27 q

2 Y
2) What is the sum of 7 % and 7 ?

3)  Complete the equivalent fractions.
i_D
7 21
4)  Draw a shape with a perimeter of 8 centimetres.

Various answers




Flashbale k ?

) Calculate 8 of 32 Y

8 10 2

2) Subtract m from T M

3)  What fraction of the shape is shaded?

NN

HY)  Find the sum of 2,409 and 3,930 6,339

Week 8 Day 2




F | as h bQ C k L’ Year4 Week8 Day3

3

) Calculate 3 of 32 12

3

2) Find the difference between 5 and |

3)  What fraction of the shape is shaded?

1

4)  Multiply 37 by 4 [H8




Flashbvalc k 4

3

) What is q of 287 2l

3 7

I.I
2) What is q less than v ? g or |

3)  Complete the equivalent fractions.
7 28

25~ 100
4) Divide 8lby 3 27

Year4 Week 8 Day4
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Complete

|
9

of | 29

d 3 35

Calculate S5 — 3 Y 3" g

Complete the sentence.

There are |2 fifths altogether.

4)  Find the product of 39 and 5 695




